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YEAR : 2002

In an alloy there 1s 12% of
copper. To get 69 kg of copper.
How much alloy will be required?
uF fagag d 12% R B 69 fEmL
M W w0 w fAu fEed fogug
=ifeu)

(a)424 kg (b) 575 ke
()828 ke (d) 17362 ke
YEAR : 2003

10 kg of wheat priced at Rs. 8
mixed with 15 kg of wheat
priced at Rs. 10. What 1s

average price of whole mixture?

'8 mima et 10 feerm g %10
Tt 15 el 11 & w1 e st 2
wﬂﬁmaﬁﬁmﬁaﬂnﬁﬁmﬂﬁ#ﬁ?
(a)” 9.5 kg (b)” 9.2 kg
()" 7.5 kg (d)" 8.5 kg
40 litres of a muxture of milk and

water contains 10% of water, the

water to be added, to make the

- - <I'J'.
water content 20% in the fig W

muxutre. Find how ma%y htt:es
water will be added? »

40?ﬁwa?ﬁwﬁqys§;’ﬁﬁr%i?4ﬁ
o et = A 1M%m=rqfqa:mn
uHt w OAE 25’% e % fau T
e et ﬁmﬂn ‘eﬁqﬁ

(a)6 littey™ ¥ (b) 6.5 litres

(c) 5.5 litres  (d) 5 litres

A sugar solution of 3 litre con-
tain 60% sugar. One litre of wa-
ter is added to this solution.

Then the percentage of sugar in
the new solution is:

uF A 2R At # 3 e fasor §
60% =i+l & afg =g fagor § 1 ofiet
it et firen e wmoal A fagor |
=t =1 fqer: SdEy?

806 |

5.

6.

T

(a) 30 (b) 45
() 50 (d) 60
YEAR : 2004

In what ratio must a grocer
mix tea at Rs.60 per kg , and
Rs.65 per kg, so that by selling
the mixture at Rs. 68.20 per kg,
he may gain 10%.

)
B

60 ®9F /T, 3R 65 = /fEm awlt L

a1 w R sea W faern S ’r?"ﬁ”"
frsmn 1 68.20 T/ fm. G w109 )
&l MY W ETI
(a) 3:2

[c) 3:5 )
A barrel L,ontaula, a anixture of
wine and Wakér TI} the ratio 3:1.

How mue’h fractwn of the
mixture II]IM be drawn off and
sub&tttuted’ by water so that the
ratm cgwlne and water in the
resultant mixture in the barrel

B b be‘tfornes 1:1 ?

ﬁmﬁmﬁqﬁnﬁnqﬁrmaﬁmﬂﬂ
B fago § | B am Freeen W @R
I & At oo S @ fasor oA
v ot w1 eEER 1 # S

B ©3 @3

YEAR : 2005

12500 students appeared in an
exam. 50% of the boys and 70%
of the girls cleared the exami-
nation. If the total percent of
students qualifying 1s 60%,
how many girls appeared in the
exam?

12500 faemmeff v witen o sfmfeaa
T 50% weH AR 70% wsfFar ¥
e Sl =1 Al Sl @ e w5
ferenfofai =1 wiaw 60% %, @t wien #
farart wrefewal aftufem gg?

(@)

# |

10.
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(a) 6500 (b) 6200
(c) 5500 q:ll 6250
There are 81 es pure milk in

a contalngr Omf third of milk
is rep]ageﬂ Ey water in the
contmner Agaln one-third of
mMure :s extracted and equal
Q:I'I],QHD{I of water is added. What

. 15} thte ratio of milk to water in
L the new mixture ?

% @49 ° 81 e Y g4 2
wF-ferd g9 # ur § favenfaa
S B SEr tE-faew fasm e
= 2 T fagm § ga i ur wm
S F B

(a) 1:2 (b) 1:1 (c) 2:1 (d) 4:5

In 80 litres mixture of milk and
water the ratio of amount of mulk
to that of amount of water 1s 7:3
. In order to make this ratio
2:1 how many litres of water

should be added?

80 et % fagm § gy R WA

HA 1 SALIG 723 E1 2:0 U 9

% fom =y T witex ot faeman s

(@S (b)6 (c) 8 (d)4
YEAR: 2006

Vessels A and B contain
mixture of milk and water in
the ratios 4:5 and 5:1
respectively. In what ratio
should quantities of mixture be
taken from A and B to from a
mixture in which milk to water
is in the ratio 5:4 ?

ad A 3R adq B & fagw  gu sk
UM 1 SEAE 4:5 AR 5:0 71 WA A
AR w4 B @ fm aum § fagor
f&Ten Se fF 39 SR U # SIE
5:4 B =1l
(a) 2:5

(c) 5:2

(b) 4:3
(d) 2:3
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11.

12.

13.

14.

15,
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YEAR : 2007

The milk and water in a mixture
are in the ratio 7:5 . When 15
litres of water are added to 1t.The
ratio of milk and water in the
new mixture becomes 7:8 The
total quantity of water in the
new mixture is :-

uF Ay # g9 ST G F S 755
21w T 15 eftex e e s @
@ U fggm § 39 SR uE w1 SFuE
7:8 B W@ 81 7 fagm § o # w5

T FaT)
(a)35 litres (b) 40 litres
(c) 60 litres (d) 96 litres

A person has a chemical of Rs.
25 per litre.In what ratio should
water be mixed with chemical, by

selling the mixture at Rs.20 per
litre he may get profit of 25%.
UF ARH F U 25 ¥ Afg et
el WEA 21 RS eTE o a5
wmEA 4 fgeran s afs fasmor =5 20
w9 @it dEF W 25% H |
I &l

(@) 14:9 (b) 16:9

(c)9:14 (d)9:16

Tkg of tea costing Rs.280 per
kg is mixed with 9kg of tea
costing Rs.240 per kg. The

average price per kg of the
mixed tea is :-

280 w99 Wi fF w1 7 fRoL 9@ &
240 = ofd frm = o frm = =% Wy

ﬁamm%uﬁfaammaﬁmn@'

ofq . =an) g«f
(a)Rs. 255.80 (b) Rs. 257.50../
(c)Rs. 267.20 (d) Rs. 36%50

YEAR : 2008 Af;

In what ratio @tgé" mixture

of 30% alc ufﬂ"ength be
mixed T.:gl tha 50% alcohol
e i
30% Ueshiee 9l THET %] 50% Uohied
T At fago  frg emoa § fremn
= & qu fasm | 45% Uewed B
(a)1:2 (b) 1:3 (¢) 2:1 (d) 3:1
In a 729 litres mixture of milk
and water, the ratio of milk to
water 1s 7:2. To get a new
mixture containing milk and

water in the ratio 7:3, the
amount of water to be added is:-

16.

17.

18.

729 #ieX 9 fago ® gy 3R e #@
SFAE 72 ¥ 39 fRam arl faemn
S A v fagm § g9 siw e W

9T 73 B W
(a) 81 litres  (b) 71litres
(c) 56 litres (d) 50litres

In an alloy, zinc and copper are
in the ratio 1:2. In the second
alloy, the same elements are m
the ratio 2:3 . If these two alloys
be mixed to form a new alloy in
which two elements are in the
ratio 5:8 , the ratio of these two
alloys in the new alloys 1s :-

& fagug o, i @R wio =1 aua
12 21 g faga § foF i #W
*1 U 2:3 €1 afg o1 S fasaigst
F1 firamn s @ @ A fagug o o
A H FT I 58 B S E al
qu fagurg ® @ s fAgmuged &

19. A and B are two alloys of gold

20.

E GG lCGIE:
(a)3:10 (b) 3:7 A2
() 10:3 (d)7:3 “ ‘{’ig,#

A jar contained a mmre"é;') '{;;}0
liquids A and B in (atm :1.
When 10 litres o e‘ D(ture
d 1’0 litres of
Ad into the j jar.
Pﬁa"icame 2:3. The
liquid A contained

was taken ou
liquid B w
This r

T

r initially was :-
%mﬂaaAwaaB%ﬁwrm
gmjmﬁm%ﬁwm'éﬁa%fwmm
b i 10 < 7 B e
@ = ¥ 39 A 3R 53 B ® IETE 23
2 S 2 U § 29 A F A Fa)
(a)4 litres (b) 8 litres
(c) 16 litres (d) 40 litres
In a mixture of 75 litres, the
ratio of milk to water is 2:1.
The amount of water to be
further added to the mixture so
as to make the ratio of the
milk to water 1:2 will be:-
75 e At fagm # gy S o
sam 2:1 @1 fasor ® feem o) uret
fietrn = aif g9 3 aE w1 sEE
12 B S
(a) 45 litres
[c) 75 litres

(b) 60 litres
(d) 40 litres

21.

@d"?l :37. In what ratio should
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and copper prepared by mixing
metals in the ratio 5:3 and 5:11
respectively. Equal quantities of
these alloys are melted to form
a third alloy C. The ratio of gold

and copper in the alloy C 1s

gR 3t ww # 9 fguEe A @i B
F 5:3 AR 5:11 % oF9a ® foer §
A St 2 e e C # e
% fore 5 <7 fagege 1 auer qe
¥ fysrarar s @1 fageg C § |@H

3 FW e
(#2513 ) 33:15
[d] 17:15

Ul5”p

Twa- ‘typ:%*; of alloy posses gold
an(;L 5;}ver in the ratio of 7:22

ese alloys be mixed so as to
have a new alloy in which gold
and silver would exist in the
ratio 25: 62 ?
TR 3R = # 2 faguget § 96 et
A FoeTuE 722 SR 2137 ®1 W
A fagurgal # e omum § faeman
S i ¢ fagerg § G@9 eI =1 6

I 25:62 Bl
(a) 13:8 (b) 8:13
(c) 13:12 (d) 6:9

An alloy contains zinc, copper
and tin in the ratio 2: 3:1 and
an other contains copper, tin
and lead in the ratio 5:4:3. If
equal weights of both alloys are
melted together to form a third
alloy, then the weight of lead per
kg in the new alloy will be.

s fugurg & 6w, ®w & fo #=
ST 2:3:1 B gEd famurg A w9,
o afn I8 @ eum 549 21 oA
A 97 areht 3 fAgugsi w1 U
Y fager s € d uh T fasee
S &1 A fageng © 9 %1 ufa e
1 e

kg

ol

(@) 5 ke (b)

(d) gke

L= ]

©) 1rke

|" 807
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22. The ratio of the quantities of
sugar, in which sugar costing

Rs.20 per kg. and Rs. 15 per kg.
should be mixed so that here
will be neither loss nor gain on
selling the mixed sugar at the
rate of Rs.16 per kg. 1s—

20 94 wfd foFm. @i 15 w9 ufa fem.
et = F R erom § fremn s
e fafsa == #5116 T3 wfq fwm.
W ST T O 1 8 S A @ e e

(a)2:1 (b) 2:1
(c) 4:1 (d) 1:4
YEAR : 2009

23

In one glass, milk and water are
mixed in the ratio 3:5 and in
another glass they are mixed in
the ratio 6:1. In what ratio should
the content of the two glasses be
mixed together so that the new
mixture contains milk and
water in the ratio 1:1?

w fromd § g9 3R U A 35 #
S § faerran San & S g fieny
H 3= 6:1 # oI § fyewn =m 2
u fagor § 54 frerd & w9+ fwa
s H T S @it g4 S o
1 YA 1:1 B S

(a)20:7 (b) 8:3 (c) 27:4 (d) 25:9

YEAR: 2010

A mixture of 40 litres of milk
and water contains 10% of

water. How much water must be
added to make the water 20% in

the new mixture?

T 3R 9F A 40 @i fagor §
10% &1 7U fagm § 9 20%,

foru =of Fren ot ﬁmm zfm )
(a) 10 litres (b) 7 {;res

(c) S litres
A mixture cop 2Ny wine ard
water in., the, .ratio 3:2 and
another }ﬁixtqr§ contains them
in the ratiq™ 4:57 How many litres
of the latter mixture must be
mixed with 3 litres of the former
mixture so that the resultant
mixture may contain equal
quantities of wine and water?

w g 4 Wt @R 9 = e 32
&1 g fago # Afew o T w1 e
4:5 %1 Fped efiet gEa fago deet ael 3
witex fago & figemn s @fe = fasm
H nfew i ot )t wEn /uE 2l

24.

25.

808 |
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26.

27

28? h'{ll;;ee containers whose vol-
gmnes are in the ratio of 2 : 3 : 4

za‘
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29. In a mixture of 25 litres, the
2 .. 2 .. ; : e
(a) 1'3‘ Litres (b) 575 litres ratio of acid to water is 4:1.
Another 3 litres of water 1s
1 3 .. added to the mixture. The ratio
4= it d) 3— Lt . :
() g TS (d) 4 res of acid to water in the new

mixture is -

25 Wit aret fagor ¥ s 3R 9E @
U 4:1 ¥ TH 3 e U SR
fiyern S @ @ A fagm ¥ awe s

Lala has lent some money to
Arun at 5% p.a. and Bhatia at
8% p.a. At the end of the year,
he has gained an overall inter-
est at the rate 6%. In what ra-

tio has he lent the money to T ST A
Arun and Bhatia? (a) 5:2 (b) 2:5
AT 3 STV F 5% AR e 5 8% (c) 3:5 (d) 5:3

30. Two equal Vesse];s are filled with

ufq a6 F R W wmw U9 3ur fm

o % g T T 6% o W W R the mixture ater and milk
! in the ratiff of3:4 and 5:3

=S Al F &1 A IE ITEV @R
respectigzel"y‘ the mixtures

Wi 1 e ST 4 3 R are paur&:d. into a third vessel,

@) 2:1 (b) 1:2 thg‘ra u,)} of water and milk in
() 3:2 (d)3:1 o erthird vessel will be :-
The ratio of milk and water in {}3‘[ i w1 IET 3R TH & 34 3R

53 & YA ¥ W0 T A g sl
F AR Fd § =en S 2 ar A g
o o 3t g SR S

mixtures of four containers are

5:3,2:1, 3:2 and 74respect1ve1y<%’1 >,
which container is the quan d% J
milk, relative to water,

a) 15:12 b) 53:59
ﬂﬁaﬁmﬁiﬁzaﬂ'{wwaﬁw (a) (b)

(e) 209 (d) 59:53
FO: 533, 2:0, 32 %Iﬁ‘lﬁ _ _
a1 o Ty = HT”ﬂi"ﬁi’ e 31. Two vessels Aand B contains acid
3 ® ?L and water in the ratio 4:3 and 5:3
7 ;

respectively. Then the ratio in
which these mixtures to be
mixed to obtain a new mixture
in vessel C containing acid and
water in the ratio 3:2 1s :-

9 WA A AR B ¥ e i unt #
N 4:3 R 5:3 ¥ @ <A fago
#I foFg emma o faamn s aifs adq
C ¥ = fasw & s/ AR 9F

(a) First \‘“.J ) (b) Second
(c) Thizd\../  (d) Fourth
\_JYEAR : 2011

are full of mixture of spirit and
water. In the 1® container the
ratio of spirit and water is 4 : 1

in 2 container the ratio 1s 11:4 FFaE 3:2 @
and in the 3" container ratio is

] 3 (a) 5:8 (b) 7:8
7:3. All the three mixtures are () 7:5 (d)4:7

mixed in a big container. The
ratio of spirit and water in the
resultant mixture is:

T For fos e 2:3: 4 %

32. Two containers have acid and
water mixed in the ratio 3:1 and
5:3 respectively. To get a new

mixture with ratio of acid to

aﬂquf%ﬁﬂqﬁzaﬁ'fqﬁ?ﬁﬁrm'@‘i{ water as 2:1, the two types of
W@%WW?W@TM Eal mixture have to be mixed in
I 4 : 1%, TR Few ¥ A the ratio?

11:4 2 R R FoW H 790 7 : 3 % A | o iR aH # ST HE

B1 & A0 = UF 78 Few | e
fen s @1 o fagm § fefe el
T FT S FA B

(a) 4:9 (b) 9:5

(c) 11: 4 (d) 5:10

3:1 3R 53 21 ¥ gl # fFE s
F fiyemar < @fE 7w fasm ¥ o SR
Ut 1 SE9E 2:0 B S
(@) 1:2 (b) 2:1
(c) 2:3 (d) 3:2
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33. Acid and water are mixed n a 37. Alcohol and water in two

34.

35.

36.

info@spardha.guru

vessel A in the ratio of 5:2 and
in vessel B in the ratio 8:5. In
what proportion should
quantities be taken out from the
two vessels so as to form a new
mixture in which the acid and
water will be in the ratio of 9:4?
T A o el ol U w1 oSEuE 52
Bl add B H ol @R Ot &1 9
8:5 €1 A = @ e o A fagor
fraren s @i U fagm § s in
T T SR 9:4 Bl

(a)7:2 (b) 2:7

(c) 7:4 (d) 2:3

The acid and water in two
vessels A and B are in the ratio
4:3 and 2:3. In what ratio should
the liquid in both the vessels be
mixed to obtain a new mixture

in vessel C containing half acid
and half water?

T wHl A WX B H o @R IR @
HAE 4:3 R 2:3 21 <A & F 53
=i fom emma o faamn s @ifs adq
CH & v fugm § sy oved 3R
ST 9E 2

(a)7:5 (b) 5:7

(c)7:3 (d) 5:3

The ratio of spirit and water in
two mixtures of 20 litres and
36 litres is 3:7 and 7:5
respectively. Both the mixtures
are mixed together. Now the
ratio of the spirit and water in
the new mixture is :-
2oaﬁaaﬁt3ﬁ?ﬁaﬁmfw§ﬁ’
¥ feafre @it w1
A 7:5 21 A FaEO mﬁm
faen fran wman € & T
fegfre ity o a@m amam
(a) 25:29 (b) 9: [cj27 29 (d) 27:31
Two vessels A a\ﬂﬂ B contain acid
and watér” in the ratio 2:3
and 4:3. In'what ratio must these
mixtures be mixed to form a new

mixture corntaining half acid and
half water?

T ad A R BH are 3 e w1
A 223 R 4:3 B A0 fagor FE
% fore gE1 o #1 w9 oqum o
farn =g @ifs =@ fgsm § amen
3T S e U

(a)5:7 (b) 1:2 (c)2:1 (d] 7:5

38.

39

vessels A and B are in the ratio
5:3 and 5:4 respectively. In
what ratio, the liquid of in both
the vessels be mixed to obtain

a new mixture in vessel C in
the ratio 7:5?

T @ A IR B # Tealed SR 9 F
FIIE 53 R 54 T <A WA B v
# feg sme ® e s oarfe ad
C ¥ & 7u fagm ¥ towka @R UA

F A 7:5 2

(a) 2:3 (b) 3:2

(c) 3:5 (d) 2:5
YEAR : 2012

A vessel 1s filled with liquid |3
parts of which are water and 5
parts are syrup. How much of
the mixture must be drawn off
and replaced with water so that

41.

the mixture may be half water

and half syrup?
TF FT 79 8 99 gan © e

Tt ® afR 5w farg @) fﬂn‘@}
Wﬁmmﬁnmﬁqﬁﬁlﬂm
W @i fasm § st ‘#ﬂ)anm
fea 21 Qr/
Lo

A

fﬂ\.\%“j
e,
O §D)

g, »!
Kﬂintalner contains 60 kg of
From this container 6kg

A
| =

(@) 5

@2

C zi”’of milk was taken out and

40.

replaced with water. This
process was repeated further
two times. The amount of milk
left in the container is

TF g o 60 fEuL gy BT 9 6
formm, 9w wmex frmren w1 @ 3 se
@ url e W 81 98 WhEEA e
LU 1l S 1 BT B A
g0 g4 H AT ST

(a)34.24 kg (b)39.64 kg
(c)43.74 kg  (d)47.9 kg

Two vessels A and B contain
milk and water mixed in the
ratio 8:5 and 5:2 respectively.
The ratio in which these two
mixtures be mixed to get a new

. s i 3
mixture containing 69ﬁ%

milk 1s :-

&=

4

O ?*

43.
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9 o A 3R B # gy @R o #
FAI: 8:5 R 52 F U § fiemn
S @1 < ol W fRe e |
foern s afs 7o fogo f gy =
T 69% |
13

(a) 3:5 (b) 5:2 () 5:7 (d) 2:7
In two types of stainless steel
, the ratio of chromium and
steel are 2:11 and 5:21
respectively. In what
proportion should the two
types be mlxe. so that the

ratio of chro {u:zam to steel in
evbecomes 7:32?
A wER FyAmEE e B ot
I aﬂ:“‘f?:m F FTE 2:11 i
5L }an % Al w1 g e
i S aqfF T YER F FeT |
3R e # ST 7:32 2
(a) 2:3 (b) 3:4

(c) 1:2 (d) 1:3

A and B are two alloys of gold
and copper in the ratio 7:2 and
7:11 respectively. If equal
quantities of these two alloys
are melted to from a new alloy
C, then the ratio of gold and
copper in C is

J fugangeti A @i B § @9 sl wim
H I 72 #R 7:01 B A wEE
wa A g aF fagegs w fawern
W E A Uk fagug C ot § oA
g C H | @i R 1 A9 T
=

(a) 6:5 (b) 9:4

(c) 12:7 (d) 7:5

A can contains a mixture of two
liquids A and B 1n the ratio 7:5.

When 9 litres of mixture are

drained off and the can is filled
with B, the ratio of A and B
becomes 7:9. How many litres
of liquid A was contained by the
can initially?

a1 H 7@ A @R 3@ B & fasm &
A 7:5 €1 WA 9 ofier F fagor awl
e ST ® 3R %9 B ¥ e W @
@ A 3R B 1 Fq96 7:9 & @@ 21 a
s A § 7@ A feae ofter an

(a) 10 (b) 20 (¢) 21 (d) 35

|" 809

www.spardha.guru



44.

45.

46.

47.

info@spardha.guru

Two vessels contain milk and
water in the ratio 3:2 and 7:3.
Find the ratio in which the
contents of the two vessels
have to be mixed to get a new
mixture in which the ratio of
milk and water 1s 2:1?

e g9 AR U w1 eI 32
3 79 21 fFY orm § A fasoi
Fi fremn wmu aife Tu fasm # g
3R I F ST 2:1 W E
(a)2:1 (b) 1:2

(c) 4:1 (d) 1:4

A shopkeeper bought 15 kg of
rice at the rate of Rs.29 per kg

and 25 kg of rice at the rate of
Rs. 20 per kg He sold the

mixture of both types of rice at
the rate of Rs.27 per kg. His
profit in this transaction is
F THEAER 15 fEe ¥\ 29 w9 ufa
fem. @R 25 fell uM 20 T wf
. & W8 § 'iiEq 21 9 I T
+ it % fagor =t 27 = wfa fEm
F 99 9 9 21 g uE § sEE
EIERCGIE

(a)Rs. 125 (b) Rs.150
(c) Rs. 140 (d) Rs. 145
YEAR : 2013

The proportion of acid and water
in three samples 1s 2:1, 3:2, and
5:3. A mixture containing equal
quantities of all three samples
is made. The ratio of water and
acid in the mixture is :-

<t Wil s SR g @ s 23

32, 53 ¥ HAH WAl & qHi g @ }
fagor w1 S € fagm W 3l
I 1 FE S

(a) 120 : 133 [bJ/Z ?" 133

(c) 227 : 120 133" 227
Two alloys bnélf}e made up of
copper t1n he ratio of
copper arn in the first alloy
is 1:3 and in the second alloy is
2:5, In what ratio should the two
alloys be mixed to obtain a new
alloy in which the ratio of tin
and copper be 8:3?

< faguige w1 &t foT 4 & 21 Teelt
fagemg 9 FM iR 5 # ouE 13 €
A gEl F 2:5 81 I fagsmged wr
fra amum o foome @ifs Ao fagug o
foA @i =i %1 9E 83 @l

810 |

48.

49.

50.

(a) 3:5 (b) 4:7

(c) 3:8 (d)5:11

A mixture contains alcohol and
water in the ratio 4:3. If 5 litres
of water i1s added to the
mixture, the ratio becomes 4:5.
The quantity of alcohol in the
given mxture 1s :-

wF fago § Uekled SR G 61 SF
43 1 =z zmE 5 efter el fien R
W § A 9 4:5 & STl @1
Faret fou mu fagm § wowed ® AET
ot 27

(a) 3 litres (b) 4 litres

(c) 15 litres (d) 10 hitres

15 litres of a mixture contains
alcohol and water in the ratio
1:4. If 3 litres of water is mixed
in it, the percentage of alcohol
in the new mixture will be

|5 ©ffex 9t fagm § Uekied 3T

52.

\J@Q‘] Rs. 7 loss

FiEA 15% AR 40% A A A B
Hiell i fRE erwE o fHera S
[iEA 30% AT =ie 9w
(a) 2:3 (b) 3:2 (c] 8:9 (d) 9:8
Nikita bought 30 kg of wheat
at the rate of Rs.9.50 per kg
and 40 kg of wheat at the rate
of Rs.8.50 per kg and mixed
them. She sold the mixture at
the rate of Rs.8.90 per kg. Her
total profit or loss in the
transaction was :-
A 3 30 ﬁ%?ﬁ A 9.50 T i
. @R 40 ﬂa 8.50 ®94 ufa
fermm. @ @fﬁ; ! fem # 9 o
fasmor =1 ‘%«90”’" - ufq fem @ st
21 plamaaj“«qﬁ e o g oy @
|
od (ég Re. 2 loss (b) Rs. 2 profit
(d) Rs. 7 profit

ST 14 # Hﬁm{fﬁ{} How many kg. of salt at 42

dter urt foen fem s fftg;?,
fagm 4 tewea w1 wiavd
o/

&
. <\ 2)
(a) 15 [b]ﬁ%ﬁit;ij’
(c) 17 fo@g 18%
Three {‘ﬁ" Ssels whose
ca ies’are in the ratio of

3: 21 1% completely filled with
ﬁﬂ"k mixed with water. The

_{“ratio of milk and water in the
* Cmixture of vessels are 5:2 4:1

51.

and 4:1 respectively. Taking 1/
3 of first, 1/2 of second and 1/
7 of third mixtures, a new
mixture kept in a new vessel
is prepared. The percentage of
water in the new mixture is
ERIE B 1 B Bt e
aifi 3:2:1 #1 A CH g SR wE #
ST WA 512, 4:1 SR 4:1 € Twel
q 13, T A 12 3 de d 17
g et T U ad9 o @ ST
21 U fagor § et F1 ufava @@ed?
(a) 32 (b) 28

(c) 30 (d) 24

The ratio in which two sugar
solutions of the concentrations
15% and 40% are to be mixed to

get a solution of concentration

30% 1s

54.
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Paise per kg must a man mix
with 25 kg of salt at 24 Paise
per kg, so that he may, on
selling the mixture at 40 Paise

per kg. gain 25% on the outlay?

42 99 o e ot W & e R
R R 24 T o fEIL @Rl R # 25
foram. v o faare a7 fagm &1 40 T
T R S W 25% S 2l

(a) 20 (b) 30

(c) 40 (d) 50

A mixture of a certain quantity
of milk with 16 litres of water
is worth 90 Paise per litre. If
pure milk be worth Rs.1.80 per
litre. How much milk is there
in the mixture?

o fagm =1 uw fifvaa om0 % 99 4,
16 wiiet grt foemst 90 T ufd e
A= W 2 AR S g8 F 9T 1.80
@ 9fq e & a fasm § gy &
AT A
(a) 40 litres
(c) 60 litres

(b) 16 litres
(d) 80 litres
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55,

56.

S7.

58.

info@spardha.guru

YEAR: 2014
A gold smith has two qualities

of gold, one of 12 carats and
another of 16 carats purity. In
what proportion should he mix

both to make an ornament of 15
carats purity?

T G % TG 9 TN A T 12
HE Al S W 16 HE YSA
e <Fl F R aEe § faen @it
TE 15 HiE YET TN SYE0 T qehl
(a)1:3 (b) 2:3

(c)3:2 (d) 3:1

300 kg of sugar solution has
40% sugar in it. How much
sugar should be added to make
it 50% in the solution?

300 form. & <At & H H 40% =T
2 fradt =M oin fremdt <o aifs =g
| " 50% &9 S

(a) 40 kg (b) 50 kg

(c) 60 kg (d) 80 kg

A can is full of a mixture of two
liquids A and B in the ratio of 7 :
5. When 9 litres of mixture are
drawn off from the can and re-

placed by the same quantity oflig-
uid B, the ratio of A and B in the

can becomes 7 : 9. The capacity
of the can is :-

U H G YR B ol AR B 7
5% argE ¥ fago & g 9@ #1 At A
¥ 9 frer fagm Fram fen s sl
IHH T W I € "E A e
fer wmu, @ F9 F A 3R BFL: _,..Zf
- 9 B SO F FY s R ER
(a) 21 litres (b} 2 }itf}’es

(c) 10 litres fﬁﬁ Titres
ntain mixture of

Two vessels

petrol ar Kerosene in the
ratio 4: nde8:5 respectively.

The ratio of the volumes of the
quantities from the two vessels
to be mixed together so that the
new mixture may contain same
volume of petrol and kerosene 1s:
2 Tl U S R F1 fagor e
4:3 3R 3:5 & U F 71 <H R H
foF arma 1 2R T e s
fafsm fe W =3 fagor § B ol
T H W SHE E S?

59.

60.

61.
_.{“contain acid mixed with water.

(a) 7:4 (b) 9:6

(c) 3:2 (d) 7:8

60 kg of an alloy A is mixed with
100 kg of alloy B. If alloy A has
lead and tin m the ratio 3:2 and
alloy B has tin and copper in the
ratio 1:4, the amount of tin in
the new alloy is :-

60 kg fagarg A= 100 kg fagurg B
+ e fofam frn s &1 afx faseg
A ¥ w1 3R 7 3:2 F ey § g ein
fagurg B H o &R dfan 1:4 & o9
3 2, 0t 7% fagem o f A T e
(a) 44 kg (b) 53 kg

(c) 80 kg (d) 24 kg

Two blends of a commodity cost-
ing * 35 and * 40 per kg respec-
tively are mixed in the ratio 2 : 3
by weight. If one-fifth of the mix-
ture is sold at ' 46 per kg and the

remaining at the rate * 55 per
A

kg, the profit percent is :-

63.

64.

£

«ture 1¢' sold at '11 per litre at a
\§0Yﬂ of 10%. If the liquid X

et o%g & FAv: 35 {_ »

R =t e = & fagor = \'a%
SATAR 2 1 3% S 4 o Eﬁlﬁm
%1 afg 1/5 fagor * 46,4
¥ 55 wfa fem w1 R
% @ e g fRdm em?

()50 A~ )(b)20

:c] 40 {’”} - (d)30

é‘!gﬁAR 2015
’r[n‘ee“"! glasses of equal volume

s fﬁ*he ratio of acid and water are

'5
-

2:3,3:4 and 4 : 5 respectively.
Contents of these glasses are
poured into a large vessel. The
ratio of acid and water in the
large vessel 1s :-

A A S d fremst | e $
e s fafsa #1 swa qen wE w0
A HAY: 2:3,3:4 404 :5%8
1 fromd # T # A2 A
el S 21 92 o W s S urEt

FAIE F Em?
(a)417 : 564  (b) 401 : 544
(c)407 : 560 (d) 411 : 540

Two types of tea costing ' 180/
kg and ' 280/ kg. In what ratio
should these be mixed so that
obtained mixture sold at * 320/
kg to earn a profit of 20% 1s :-

* 180 /fFm =T * 280/ fem @

65.

66.
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a1t < foRer &t = fRg e | figen
& = & gra fagm #0320/ fEm
= 2T W FH W 20% FT =Y AfHa 22
(@) 3:13 (b)4: 13

(c)1:13 (d)2:13

In 2 kg mixture of copper and
aluminium, 30% 1s copper. How
much aluminium powder
should be added to the mixture

so that the quantity of copper
becomes 20%?

dfd =i wegfafem & 2 fma, faso
30% e &1 = fagm § e

IR AR A S %nﬁrq e ara
1 I 20%

(2) 900 g \jb} 800 gms

(c) 1000%91@« (d) 1200 gms
The liguids’ X and Y are mixed
in ‘the: ratio of 3:2 and the mix-

%

sts 2 more per litre than Y,
the cost of X per litre 1s (in ):
7@ X #W Y 3:2 % oum H fafya
T S € SR g H 10% F oo |
‘11 ofd eftex & &= s #1 At 59 X
o Y S qer § 2 Wi wier aife € A
X #1 @ wfa elier fwee () @
(a)9.50 (b) 10.80
(6]:11.75 (d)11
A vessel contains 60 litre of
milk. 12 litres of milk taken out
from it and replaced with water.
Then again from mixture, 12
litres 1s taken out and replaced
with water. The ratio of milk
and water in the resultant
mixture is :-

TF 41 H 60 et g9 21 399 | 12
oo g9 FrpreEt i o9 e wm #)
frr | 39 fasor & 9 12 &t g9
et arl s R s € wfomrd
fago § gy aff o w1 SO T Em?
(a) 16: 9 (b) 15 : 10

(c) 16: 10 (d)9:5

In what propotion must a gro-
cer mix sugar at Rs. 12 a kgand
Rs. 7 a kg Sugar as to make a
mixture worth Rs. 8 a kg ?

¥ gFFER 59 oeE § 12 ® ufd
Rt @R 7 ® o o ol ==
=i fafsm =t f fasm =1 9521 8 = wfa
fEm =1 9 ?

(@) 7:12
(c) 2:3

b) 1:4
d) 127

|" 811
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67.

68.

69.

70.

In what ratio sugar at Rs 30/ 71. A milk merchant buys 50 liters

kg should be mixed with sugar
at Rs 45/kg so that on selling
the mixture at Rs 42/kg there
is a profit of 20%?

30 % wfa fm. =t I =1 45 % ufa
fem =t d+t & W fFe sum H
fremen wmw, foeg 3w faso =t 42 =
ufe fa. . # =4 W 20% =1 &4 B?

(@a)2:1 (b)2:3
(c)5:2 (d)3:7
Three containers whose

volumes are in the ratioof 2 : 3
: 4 are full of mixture of spirit
and water. In the 1 container
the ratio of spirit and water is
4 : 1. In 2" container the ratio
is 11:4 and In the 3" contamer
ratio 1s 7:3. All the three
mixtures are mixed in a big
container. The ratio of spirit
and water in the resultant
mixture is :-

R weW fagem oA 2 :3: 4 %
s ¥ & feafie ofr el & fasmr & R
T BU § T wow ¥ fufe ok wlt w
IEE 4 : 1% g R F e
11:4% 3R dfw ®ew ¥ &1q7a 7: 3
# I # s B uE w2 TR A e
fean st €1 aftomdt fago § fefie i
T T ST T g

(a)4:9 (b)9:5

(c)11: 4 (d)5: 10

80 litre mixture of milk and

water contains 10% milk. How.

much milk (in litre) mustsbe
added to make water p?mtage}

in the mixture as 80% ""

g4 qu 9t % 80 ey |
2w 21 fhgor 3 o
% [y fma gu

(a) 8 @‘*g : cj 10 (d) 12
How muckfawatxer (in litres) must
be added to 80 litres solution of
milk and water containing 10%,
milk, so that it becomes at 5%
milk solution?

80 wifet g4 de Ul & TR, foed g4
" 10% 7, ® foFeen arft (wfex #)
faman =@ @fE 98 5% 34 3en fagm
a9 Sy

¥ 10%
3 80% TR

(a) 10 (b) 20 (c) 40 (d) 80
812 ||
info@spardha.guru

72.

73.

\f’

74.

of milk at the rate of Rs. 40 per
litre and mixes 5 litres of wa-
ter in it. If he sells this mix-
ture at the rate of Rs. 42 per
litre, then what 1s the profit
percentage for the dealer?

T M SAMRI S0 WX g H 408 Hid
offex #1 S | T € a9 39 5 witel
urt firen 21 21 aft 97 s T fusor #r
42% Ufd oftex F W W A=A €, A A
e @ &7

(a) 17.2 (b) 14.4

(c) 16.6 (d) 15.5

A trader had 960 kgs of rice. He
sold a part of it at 20% profit
and the rest at 8% profit, so
that he made a total profit of
12%. How much rice (in kgs)

did he sell at 8% profit?

qa?mma-‘qm%oﬁmwm:

I TEHE UF fEE 20% THH W

7o

76.

mﬂ%mmﬁﬂﬁm,mﬁﬁﬁ%“}

% TATHT FAT HE| IT 8% m‘
fram ==a (R #) &%n? n ot

)
(a) 460 (b) ;féb} }"w
(c) 540 gl] 640
A milkman. _ :i'mlk at Rs 24
per litre. é\}ufds 1/5 of water
to it and sells the mixture at Rs

32 fér litre. What will be his gain
Liﬁ%l‘jaé

AT 24% WFA et W 3 EeLiEnl]

o& 399 1/5 T e ® R T

fqama:‘rszzama’mﬁaam%u
sHHE 9 (% ®) e 22
(a) 50 (b) 40
(c) 30 (d) 60
A can contains a mixture of two
liquids A and B in the ratio 7:5.
When 9 litres of mixture are
drained off and the can is filled
with B, the ratio of A and B be-
comes. 7:9. How many litres of
liquid A was contained by the
can initially?
¥ 39 A 3R 3@ B & fagm &
UM 7:5 ¥ S 9 o 1 g 9wy
feTer Sl € $it 59 B § w9y o §
Al A 3 B &1 adE 7:0 & wa €1 ar
A I § 33 A fRa dte o
(a)10 (b) 20 (q) 21 (d) 35

T

78.
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Three bottles of equal capacity
are containing a mixture of
milk and water in ratio 2: 1,3:7
and 4: 11 respectively. these
three bottles are emptied into
a large bottle. What i1s the ratio
of milk and water respectively
in this large bottle?

WA HHA & S daell H g9 a1 9l
= fagm =1 ageE w9 2:1,3: 7
a4 : 1121 97 sae 3 92
et § @l e s € 9 Ane o
FAY: T qd1 YA a7
(a) 37:53 5) 37:90

(c) 37:30 & j 7:30

Ina muhsqrg_pf 126 litre the ra-
tioqef Wat‘ef and milk 1s 2:5 re-
spectlge y. How much water (in

O Lﬁ'e}ﬁim}st be added to make the

%0 of water and milk as 2:3 re-

spectively?

126 ¥ieX & TH a0 § HAL: qH
[T T8 BT STIM HHI: 2:5 ¢ TR
AT (et |) faemn S i g qer
T8 T ST FHALA: 2:3 B W2

(@) 16 (b) 24 (c) 18 (d) 20
50 litres of mixture of alcohol
and water is in the ratio of 1:4
respectively. If 10 litres of mix-
ture 1s taken off and replaced
with 10 litres of water. Then
what is the new ratio of alcohal
and water respectively?

50 TiieX & U A5 ® Uehied qe
T W SU HH: 14 T AR 10
it fagor =6t frerme o <t 2 gen
10 sz et =me fean < 81 o
UhIB TN I ST I AT S
1 FA?

(a) 1:4 (b)2:11

(c) 1:5 (d)4:21

A 120 litres mixture of milk
and water contains 40% milk.
How much milk (in litres) must
be added so that milk becomes
o50% ?

T T I & 120 wie {Em H 40%
7y ¥ fomae g9 (efex ®) @ faemn
S 1 gH 50% T S 7

(a) 28 (b} 30 (c) 24 (d) 32
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80.

81.

82.

83.
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YEAR: 2016

In a mixture, milk and water
are in ratio of 2:3 some milk is
added to the mixture because
of which ratio of milk and wa-

ter becomes 2:1 How much
milk was added as a percent-
age of intial mixture?

T TR0 H, Y 991 I 2:3 & I
¥ 21 fago § = 59 faeman o foad
3 qA U F SR 2:1 B T
i fagm & wfowa § fHam g9
foern T 2

(a) 75 (b) 60 (c) 80 (b) 50

A mxture contains 18 % cop-
per by welght How much mix-
ture (in Kg) is required to ob-
tain 81 Kg of copper?

e THA9 § R % SR 18% qial )
81 . dfan v = & fau fFaa
fagor (frm &)1 AEwwm 77

(a) 350 (b) 300

(c)450 (d) 250

A trader had 200 kgs of rice. He
sold a part of it at 15% profit
and the rest at 10% profit, so
that he made a total profit of
12%. How much rice (in kgs)
did he sell at 10% profit?

TF SAME F 9 200 R = 9
I TEH TH fEE 15% AW W AN
9 10% @9 W A9 fem, @ifs a8 E5w

84.

85.

TF A & 9" 9 faded g an 3HA
#3 few 10% ons iR ot # fee
20% w4 T 3 5o, 7 9ER 3 E19
14% = g2 357 20% w9 9t ffar

i T
(a) 540 kg (b) 360 kg
(c) 180 kg (d) 720 kg

A trader had 360 kgs of rice. He
sold a part of it at 16% profit
and the rest at 4% profit, so
that he made a total profit of
12%. How much rice (in kgs)
did he sell at 4% profit?

TF ANA & U 360 fEW A= 91
IHY THH U SRRl 16% WH W SR
9 4% w9 W s e, ofE 9w w5
12% FATHET FHAT Fh1 ST 4% o T
frar =me (few o) ==m?

|a) 360 (b) 260

(c) 240 (d) 120

88.

39 BE ® TF a1 § 26 ASfHEAl 81 T
el = 3 o 42 fmm, & oot
i F1 A e 48 fRm B o w
gl F SiEd a5 (R §) @ 87
(@) 54 (b) 66

(c) 60 (d) 62

Solation A contains 10% acid and
solution B contains 30% acid. In
what ratio should solution A be
mixed with Solution B to obtain
a mixture with 25% acid?
ﬁmAﬁl q@z%amﬁws
# 30% ?}ymAaﬁfmeaﬁ

m&ﬁ@‘ﬁm‘mﬁﬁammﬁﬁm

o 21\5}9}@3 wE @ 2

A dishonest milkman buyaa"f“e
milk at Rs. 20 per htr? wBg
1

adds 1/3 of water to 1

sells the m1xture* at R&.&ZS
per litre. His gai "m\ 2

T FEAE FHTET 20 Ei‘j{ﬁjﬁ&! F g

TiE € AR T |3\ e fagon
ﬁzsﬁwﬁlﬁag%mnﬁaém%
mﬁm‘ﬁ%ﬁm?
:a]z,s?‘wg\ (b) 40 %

,ci a? 5 % (d) 66.67 %

12% TR FAT TR IH 10% e 7w 80f j{’iwﬁader had 12 quintals of
- {:dwheat he sold a part of it at

e == (feam ) =2
(a) 130 (b) 125

(c) 145
A dishonest milkmadfi “buys
milk at Rs 24 per litse and adds

1/3 of water to 1 \a:;sells the
mixture at Rs %@htle What
is his gain?
Wﬂ@ﬂ;&a@ﬂ'ﬁauﬁfﬁanw
e S 1/3 T =
ﬁma‘lszv\auﬁ?ﬁa%ﬁrﬂmﬂﬂﬁ
< B SEE ong faa B
(a)33.33 % (b) 50 %
(c) 77.78 % (d) 66.67 %
A trader had 9 quintals of
wheat, He sold a part of it at
10% profit and the rest at 20%
profit, so that he made a total
profit of 14% How muich wheat
did he sell at 20% profit?

(@120 . J

g7.

13% profit and the rest at 23%
profit, so that he made a total

profit of 17%. How much wheat
did he sell at 23% profit:

TF R T 12 e W' 9 s
w9 femr 13% onw i a6 fae
23% o\ W 99 fa, 39 v =9 F5er
17% &9 g371 367 23% o9 o fohaan
i

(a) 720 kg (b) 240 kg

(c) 480 kg (d) 960 kg

In a class of 39 students there
are 26 girls. The average
weight of these girls is 42 kgs
and average weight of the class
is 48 kgs. What 1s the average
weight (in kgs) of the boys of the
class?

90.
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OEj1:2 (b) 3:1
\WFC]IZS (d)2:1

In what ratio should coffee pow-
der costing Rs. 2500/kg be
mixed with coffee powder cost-
ing Rs. 1500/kg so that the cost
of the mixture 1s Rs. 2250/kg?
FIHt ue fawst Fa 2500 &/fFm
®, # fFg soa § 1500 &/FFm.
FHIMd At FIH IS F |y e
e fa fasor =t g 2250 w/fF
B wu?
(@)1:4 (b)4: 1
(€)3:1 (d)1:3

A beaker contains acid and
water in the ratio 1 : x. when 300
ml of the mixture and 50 ml of
water are mixed, the ratio of acid

and water becomes 2 : 5 What 1s
the value of x?

T S H UfEE R O S
1: X! 5@ 300 ml s iR 50 ml
w1 faemn W@ #1d ufEe iR
9T o TAH0T F1 AU 2 ¢ 5 B S
B1 x 1 °H =1 B2

(a] 2 (b) 1

(c) 3 (d) 4

|" 813
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91.

92.

A mixture is composed of 11 parts
of pure milk and 2 parts of water.
If 35 litres of water were added to
the mixture then the new mix-
ture will contain twice as much
pure milk as water, then how
many litres of pure milk does the
original mixture contain?

wF fagor & 11 WM s 59 SR 2
o U 21 afz T fasm ® 35 wex
At faerran T at 9y fagor § g w5y
qo | g A I 39 B, q1 arfas
fasm 7 fea offex g 39 &7
(@)110 (b) 55

(c) 220 (d) 70

In what ratio should tea cost-
ing Rs 300/kg be mixed with
tea costing Rs 200/kg so that
the cost of the mixture is Rs
225/kg?

300 TR/fFM &1 FIEG 9l 99 R
fora oram A 200 T/ =l ==
% Ty fyemn s aifE fagor =1 Fiba
225 w/fEm @7

94.

95.

C

TH TH H 80 Tl AT glz@@me  96. Analloy contains copper and tin

g & 20 wie Mo fau o € i
39 AT | wieeeniod fwan S g1 T
Rz &1 20 ofex ®WEU w EY |
FRTAT ST 3 S U W wiawentyd
oo ST 21| 79 T T | T U

(efter ®) Hreg 27
(a) 45 (b) 40
(c) 35 (d) 44

An alloy is made by mixing
metal A costing Rs 2000 /kg and
metal B costing Rs 400/kg in
the ratio A : B= 3 : 1. What is
the cost (in Rs) of 8 kilograms
of this alloy?

s 44 o w1 2000 ®/f6.TM @0
el g A HR 400 E/fFIE @I
et 9 BH A:B =3: | 319W

QT

gl::‘:

% THem1 | s S €1 w6 e ang L

% § fh.7. & qed (¥ H) wg{sﬁg’%

|
o

(a) 1600 (b) 9800
(c) 6400 (d)2800 )

A jar contains a blep of afruit
P . b B B
juice and water i gtmgtlo S:

x. When 1 Litr i@vé‘t"ér is added
to 4 litres &blend the ratio

of fruit judce ' | water becomes
I ; I?Wb@ﬁls the value of x?

= S W w1 T o R = e
f%?’%\ S 5 : x §1 54 4 e
(% Fhsm 1 <frex et frrern st & 4

1s again removed and replac?\d"___V b Jm F WA U F T 1: 18

(a)3:1 (b)1:3
(c)1:4 (d2:1
93. A drum contains 80 litres of
ethanol. 20 litres of this liquid
is removed and replaced with
water. 20 liters of this mixture
with water. How much water f \
litres) is present in this dmum/
now? \f{%"‘“\m}
2
A"
o)
A3
Ny aad
S g OF
. o (1 21. (b)
2. M) 12. (d) 22. (d)
3. (d) 13. () 23. (a)
4. M 14. (b) 24. (c)
5. () 15. (a) 25. (b)
6. (b 16. (a) 26. (a)
7. (d) 17. (o) 27. (c)
8. (d) 18. (o) 28. (e)
9. (d) 19. (c) 29. (a)
10.(c) 20. (a) 30. (d
814 ||
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2

98.

S W ¥ xw uH o 82
(a)3 (b) 1
(c) 2 (d) 4
e e
q“ANSWER KEY “}’
31. (b 41. (o) 51. (a) 61. (b)
32. () 42. (d) 52. (a) 62. (d)
33. (a 43. (o 53. (4 63. (c)
34. (a) 44. (b) 54. (b 64. (b)
35. (g 45. (d) 55. (a) 65. (a)
36. () 46. (d) 56. (c) 66. (b)
37. () 47. () 57. (d) 67. (a)
38 (o 48 (d) 58. (a) 68. (c)
39. (d 49. (b 59. (a) 69. ()
40. (d) 50. (d) 60. () 70. (d)
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in the ratio 3 : 2. If 250 gm of
copper is added to this alloy then
copper in it becomes double the
quantity of tin in it. What is the
amount (in gm) of tin in the alloy?
uF fagu § @ 2R foe7 &1 o um 3
: 2 21 afz 79 fagerg § 250 W e
Ty Iufee fem &t AN T AW B
o €1 7| oy uig § f fead mEn
(am ¥) § &7

(a) 250 (b) 750

(c) 1000 d) 500

If X beakens”of 90 ml contain-

ing 1:4 acid*water solution are
nﬁxedmﬁfﬁ;ﬂ”(beakers of 200 ml

cofitai Iih;jg 3:17 acid—water so-
W.lut;;gzkhen the ratio of acid to

- in the resulting mixture

{};}‘;gcomes 19:91 Find X:Y.

afs 1:4 area-urt & sa % 100 o
. aret X s F 3:17 31d-aHt Jret
et ® 200 faef. s Y st | faemn
S € A i fager ¥ ave $iR ae
1 3T 19:91 @ S 21 X: Y 3|
ol

(a) 5:3 (b) 3:5

(c) 7:13 (d) 13:7

In what ratio should 20% etha-
nol be mixed with 40% ethanol

solution to obtain a 28% etha-
nol solution?

28% TUATE =l Wi % ferw 20%
TIATA T B 40% 3O @ Wy fE
s | fafsa fean s =nfe?

(a) 2:3 (b) 8:5

(c) 3:2 (d) 5:8

71. (d) 81. (d) 91. (a)
72, (d) 82. (c) 92. (b)
73. (d) 83. (b) 93. ()
74. (o 84. (d) 94, (d)
75. (a) 85. (d) 95. (a)
76. (b 86. (c) 96. (d)
77. (d) 87. (c) 97. (a)
78. (o 88. (c) 98. (c)
79. (o 89. (c)

80. (o 90. (a)

www.spardha.guru



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

